OPTION-II
CETR M|

( Chemistry and Industry )
( TR SR 3= )

21. Branched alkylbenzene sulphonate is more biodegradable than linear alkyl-
benzene sulphonate. Is it true or false? 1

W Ufehatesia GehiHe it 31ue IMiad Ufchatsisia TohiHe At s feiga gid 21 I8
O ® A1 AT

22. Define feedstock with reference to petrochemicals. Write the names of two feed-
stocks used in petrochemical industry. 2

UEREEH & Tl H Fel YUSR I qRTYG AT YSRErH I § U & Fe USRI h
am fafan |

23. Why a rocket fuel must carry an oxidizing agent along with the fuel? 2

Tohe 4 b1 Tiaeienier ol T1Y o SIHT 1 3Ta9aeh &7

24. (a) What type of polymerization forms the polymers whose molecular mass is
not an integral multiple of that of the monomer units? Give one example of
such polymers and state its monomers.

(b) Write the names and structures of monomers and the repeating unit of
PHBYV. 4

(%) o8 TR o Sgliehol SR UH Jgaeh oFd @, (Sl 310k SoIHM Thald Tl

quf OIS A IaT? UH Sgctehl 1 Ueh 3ETEUT GISIT, 3R 3Heh Tehalehl i SaTsC|
(@) PHBV % T&Hdeh! o A d AN fIRa0| 36 S5 H SRR 3T STl Uehdh 941 6

25. (a) Why are plasticizers and binders added to paints? Write one function of
each component.

(b) What are analgesic medicines? Write two types of analgesic medicines and
write one characteristic of each which differentiates them from each other. 6

(F) U2 U wfhars (TREESR) 3R 94 (d1E-el) & ey Sd 87 I =2 &
THh-Teh T faIfan |

(@) WerRl (Tiesifen) i #=& &7 fierrl iRl & &t YR fafay 3 Jo® &
Teh-Ueh 1fycreqn fetfian e 33 s fasg fomam s wek |

* k&
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.

2. Please check the Question Paper Booklet to verify that the total pages of the booklet and the total
pages printed on the top of the first page tallies each other. Also check to see that the questions are in
sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Booklet Code No. 53/HIS/1, Set [A] on the answer-book.
5. (@) The Question Paper Booklet is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

W&ﬂéﬁ:
1. wdiemell TeA-us IR % 9el I8 W SO ST STaRd o |
2. FUAN SE B & T I-u7 gfedent 1 T g8 G 991 YUW 98 F S0 W W SU FoI Y8 G Sl GHE B | 39 90
i oft Site o A TR T ik &9 ¥ 2
3. IW-gieaen # TgaH-Tag e steyen Ffds T o Afafes ol f g fored w adenefl &1 s/ st Smm|
4. AT IT-YfEder T I -T9 Jfedert i hie T& 53 /HIS/ 1, &2 [a] ford |
5. (%) TH-F YfGaent o fowdt /st & 21 o oft, afe s =’ ot e & ¢ forelt w s IR T TR €
st T, <4, oomefl, siett, qfte, weEtem, wee, o, WU, Stedr, Iedl, wishvfl, wigd, s,

JaTeht, e, TEehd R Rt |
FHUAT I~ Wﬁﬁmmﬁ%@%m%ﬂwﬁw%@é%‘l

(@) =fe o o=t wa omsh & srfafe foret st v @ S forerd £ ot wee <61 e 6 2 areft et /et s e
el ATIehT Bl |
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Important Instructions

1. This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEW SYLLABUS and the other
based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015-16
(Block-I and Block-Il) admission and Stream-II of 2016 admission.
(Those who are appearing in September—November, 2016 under
NEW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered
before 2015-16 (Block-I) admission.

4. Candidates are to answer only one Question Paper from the given two
Question Papers.

5. Candidates are not allowed to mix questions from the given two
Question Papers.

Hewerqui fHdw

1. 30 J9-99 Yfeaent § & I9-3 e Genfda reeH gl W enania @ o w
TIT UTSIRA 3fRd @ AT TEU WG ¥ YH AR Al W aAeid @ e w
YT UTSTshA 3ifhd 2|

2. AT UTSAHKH 37 genfefal & fore Sifaard & fo=er amrad 2015-16 (scAis-|
3R scleh-II) a7 rEl-II, 2016 H 371 81 (3% forg 51 fqamAawr, 2016 A
U UTSAHH & Hailq qien 7 937 1 @ 81)

3. YUHT UTSTAhRH 3 W&l & g Aem ¢ S ame 2015-16 (scie-1)
o U8 B3 2

4. ufeneff fou 7T S YH-wH U W FIA Uh YH-UF W & I ford |
5. uftemeff i & T-u % Ul bl et 3 34 Y AgAfa T R
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NEW

This Question Paper contains 30 questions.
=0 J-T % 3Taid 30 T 2|

BIOLOGY (Theory)
Srafasm (fogr)

(314)
Time : 3 Hours | [ Maximum Marks : 80
a3 "0 | [ qUife : 80
Note : (i) This Question Paper consists of 30 questions.
(i)  All the questions are compulsory.
(iii) Marks for each question has been indicated against it.
(iv) Each question from Question Nos. 1 to 8 has four alternatives—(A), (B), (C)

(i)
(iii)

(iv)

and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your answer-book against
the number of the question. No separate time is allotted for attempting
multiple-choice questions.

39 I-99 4 30 U |
At Tl I g BT R
YA T % GHA 3G 37 63 T )

U T 1 ¥ 8 d% & Y% U # =R fopea—(=), (@), (1) qon (%) 8, 8 @ o
3UYE 2| =W foeredi 6 9 WE IW A q1 Y AT IW-YEaH § T T k9
ot | =g-fomredt el o fore eiffos wwr =& fean <o)

1. Cretinism and myxoedema are caused due to undersecretion of

(A)
(B)
(€)

(D)

parathormone

thyroxine

growth hormone

calcitonin 1
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wiefasn oM fufrafem ame A fras reTema % wRw g 27
(%) Qo

(@) ot

(M) ghg =EH

(F) hfcwert=

2. The sea anemone gets attached to the shell of the hermit crab is an example of
(A) parasitism
(B) competition
(C) mutualism

(D) amensalism

Qs e g e % Fad W @ w1 fouew dd 2| T8 3SR B
(F) uRsiferdr &t

(@) wuf =

(1)  ERIERAT

(1) eAifSrar =

3. Which of the following is a true fish?
(A) Jellyfish
(B) Silverfish
(C) Starfish
(D) Dogfish
fefafaa & @ #-5 7o A=t 27
(F) S
(@) foeafem
()  wrfew
()  SHTTe
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4. The antibody present in colostrum that provides passive immunity to the

newborn infant is

(A)  IgM
(B) IgG
(C) IgE
(D) IgA

JagY ® Rt SH arel Uit o AW daEe S e & 0 S @
YoM Ll 2|

(%) IgM
(@) IgG
(M) IgE
() IgA

is a sex-linked disorder.

(A) Down syndrome
(B) Haemophilia

(C) Syphilis

(D) Transgender

—— % fom-wag o 2
(%) = fagm

(@) e

() fafeiera

(F) TS

A

6. Identify the kingdom to which Plasmodium, Euglena and Diatom belong to.
(A) Monera
(B) Fungi
(C) Protoctista

(D) Protozoa

314/HIS/106A 5

.&/
3
)
;7
>
g

1

[ P.T.O.



38 5 (frren) 1 Teentu fSoh eiaid wvarisam, AT IR SEem o B

() T

7. Antibiotic properties of Penicillium was discovered by
(A) Alexander Fleming
(B) Edward Jenner
(C) Selman Waksman

(D) Gregor Mendel

uffaferam & wfteft o & @S o
(%) Uoidsiel T 4
(@) T SR A

(M) AHE T A

(I) TR B o

8. Neha puts some dry grams in water overnight. Next morning they were fully
swollen. Name the biological phenomenon involved.

(A) Osmosis
(B) Diffusion
(C) Imbibition

(D) Plasmolysis

T8 W G O ok SHI & TaWR & faw art # W@ fon| orieft gee eW @ @e 9
B b 9| T SFATTS TRESAT 1 19 FqTse |

(%) TR
(@) oo
() A
(F) U
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9. Name the plant hormones concerned with the following : 2
(a) Ripening of fruits
(b) Breaking of seed dormancy
(c) Elongation of cell

(d) Shedding of leaves

39 91T Bl & A 9dEu SR gey Aefafga 9 2

(%) Tl S TR

(@) S gamawn & 9w
(1) wfsrER B werg | ghg

(") it @1 e

10. Define the term ‘broad spectrum antibiotics’. Give two examples. 2
‘e WA UamEfe i gt fafaw | g9 #E 9 Iere €

11. Name the locomotory organs of the following : 2

(a) Mollusc

(b)  Starfish

o N N

fffetfad & =@ @ o7 & AW Farey -

(W) RGN

12. State two points of difference between innate immunity and acquired immunity. 2

el TfeReT 3T 3uTSia Ufeiell o si=r &0 3Tal oqisu|
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13. Match the items given in Column-I with those of Column-II :

Column-I Column—II

(a) |Cerebellum (i) |Controls involuntary action like movement
of the alimentary canal, etc.

(b) |Cerebral cortex (ii) |Largest part of brain

(c) [Medulla oblongata | (iii) |Coordinates muscular activities

(d) |Cerebrum (iv) |Controls and initiates voluntary muscle
contraction

HieH-1 7 U 3eal 3 wiew-II § U seal o1 faem s

HieTa-1 Hieq-11
(@) | STATETR (i) | 3f=se T =1 e, S SIeR-A1e it i &1
(b) | THfETsF Toge (i) | nfeass =1 gag g1 am
(c) | BgeT STiscATIe (iti) | Ut widfafest 4 aueem
(d) | Taferss (iv) | U= Ueft-wger w1 e TR aeH

14. Draw a neat diagram of a unicellular alga and label the following parts :

Chloroplast; Pyrenoid; Flagellum; Nucleus
Uehohl T3k ATl ohl W= 3TRWG 15T R HHfaIiad 9 &1 amMiferd shifeig

FARNANE (iaeTa ) ; UTediAige; HMTH; Hesh

15. With the help of diagrammatic representations and an appropriate example,
distinguish between the following types of inflorescence :

(a) Monochasial cyme and dichasial cyme

(b) Corymb and umbel

s feuen 3R W I it merar ¥ ffafad yeR % gwswdt § s wm
e -

(%) U TEfmTey 3R fgemet wfie
(@) uulmE IR goIsd
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16. List four applications of biotechnology. 2
SRR o AR SAIIERT hl gl S 3|

17. Define the term ‘hydroponics’. State three significances of such culture
experiments. 2

‘STgadd’ wse <kl gt g 36 yer & gad-gam & |9 qe™ SdEy|

18. State two functions of oxytocin. 2

AT & 2 & aqEu|

19. After recovering from a major ailment, a man was advised to include more of
proteins and iron in his diet. Give reason and mention one source of each. 2

et eflt T & S B IW & e, R e i goe i R 9% 1w meR |
MEHT 3R g Sl AT 8% 9 | 3H TAR 1 hRU ddiEy dl T &1 Ueh HId
STET|

20. Name any two disorders of the musculoskeletal system which are hereditary. 2

USfi-hehTel OF o hIg &1 TR FATST S TR, &9 § T &l

21. (@) Name the male and female sex organs in Bryophytes and Pteridophytes
and give their locations.

(b) Give any four points to distinguish between Monocots and Dicots. 4
(%) SEHES 3R RSHEE & R AR WET SHF  & A1 ad18C adT 7 Dell W 3Th
feyrfa sargu)

(@) UwsSwEt R fgeiswt i & &= #8 IR 3T Jaqrsu|

22. Explain in four steps, how a long DNA molecule is packaged in the
chromosome. 4

AR = A AT Hife 75 DNA &1 | 1] 58 yohr o & i@ gafa g 2|

23. Define the term ‘phyllotaxy’. Mention the types giving diagrammatic
representations and appropriate examples. 4

qUifeATE’ ¥e Sl AT STl STRE fEUU SR 3ugw 3ETEW dd gY foiE UERR o
quife=rTe Sqrsu |

314/HIS/106A 9 [ P.T.O.



24. (@) What do you understand by sustainable development? Mention any four
activities which will help in attaining sustainable development.

(b) Name a plant species which is most suitable for yielding biofuel.

(F) TURE (TEaet) T @ st 1 aread 8¢ 39 fodl =R fspameramal ==
FHifce S gunefiE fowe = 9™ i § EgEdar sl

(@) 3 ueu TfiEfis 1 9 JaET S 99 399 U FH 6 [T e e Iugh
il 2|

25. (@) Draw a neat and labelled diagram of the excretory system in human.

(b) To which category would humans belong based on the nitrogenous waste
produced by them?

(F) UHE & IcHSH-aF 1 T W= R AMIhd 3TNE o185

(@) #Ma 9 9eR & ARl Ul Fl 3cud Fd T Ik STMUR W 3= A R
ouft o wan?

26. With the help of a flowchart, explain incomplete dominance. Give the scientific
name of an organism which exhibits this inheritance. Also mention the
phenotype and genotype ratios.

TF JATEde hl TERdl ¥ U gWifedr H A hINT| 39 Tk Sd 1 SHIHe AT
Jarsy SEH 3@ YR Sl a9mId U ST 2| ' d Aeusedl SR Siwedl Sigatal ol
ff == HifSu)

27. (@@ Why is roughage considered important in our daily diet?

(b) Give two reasons, why children of 1-5 years develop PEM. Name two
diseases to which such children are prone to suffer from, giving the main
distinguishing symptoms of the diseases.

(c) Mention two symptoms of excessive intake of iron. What is this condition
called?

(%) TR USRS o IS § AT H R Teweyul qHT ST 27

(@) i & ®RO FaEy fF #&i 1-5 99 I AP 9l 9= PEM ¥ T& B1d &l 34 &
UM o 9 FdEY BEE 37 I % T&d g hl GEEET Bl g1 3T SF O ok
fafsrs wteor oft sy |

()  eAfteR HEM H WE 1 Uad B W Uehe B ol @ UIEul oh ==l i) 2d
feufa =1 s weq 27

314/HIS/106A 10



28. (@@ What are meristematic tissues of plants? Name the types giving their
locations.

(b) Name the complex tissues of plants. Give their main functions. Also name
the components each one is made of. 6

(%) Wl % AiEH Fdw w1 Bd g7 IFeh Al Sdqrd gY 39k TN o A Sdisy|

(@) Wi % S Hachl & AW TART| Ik TE HE TARC| 1Y & I THeH LIS
& oft 9 9dET S99 Y% Fde &4 2l 2|

29. (@) Give a generalized balanced equation of photosynthesis.

(b) Draw a diagrammatic representation of the Calvin cycle and highlight the
three main steps taking place in the process. Where does this cycle take
place and what is the main product formed? 6

(%) TRREIATI HT Th HHR] Ggfcid GHIwRTT Tl |

(@) hfcas =k 1 T ARG AU SHET G 39 URAT § B el o THE =N
TrETR TARa| I8 9 Fal el @ a9l o+ aTell Y@ 3ca18 hid-§1 Bl §f

30. (@) A son and a daughter were colour-blind. The father was colour-blind but
mother had a normal colour vision. Draw a self-explanatory flowchart to
indicate the above.

(b) Give the karyotypes of the following :
(i) Down syndrome female
(i) Turner’s syndrome

(iii) Klinefelter’s syndrome

(iv) Normal male

(c) Define the term ‘amniocentesis’. 6

(%) TH o AR TH o9 g A| 39k fUar off ang o Al A A g Gmr oft|
3T I TESH o T UF @AY yaTede sHst |

(@) fmAfafad o UREYEY FdET
() e oA fagm
(ii) <R fagm
(i) FETRe fagm
(iv) FHA T

(M) Iesaed’ weg H g i)

314/HIS/106A 11 [ P.T.O.



OLD

This Question Paper contains 26 questions.
50 JH-T % F=id 26 T &

BIOLOGY (Theory)
Safamm (frgra)

(314)
Time : 3 Hours | [ Maximum Marks : 80
am ;3 Hw | [ qUife : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii)  All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has two options. Candidates are required to attempt questions
from one option only.

(iv) Maximum marks for each question has been indicated against it.

Mawt : () 39 TH-99 4§ ©UE §—EUe 37 qd @UE |
(i) @Ug ‘I F At IH B TA HAT B
(i) w@ve @ # e faeed & wenfai @i sheet U forehew & & Ul % I A 2
(iv) Tcde U o Aftehan 37eh 36t & wme ol ™ ¥

SECTION-A
Wue-3A

1. Name the organelle responsible for osmoregulation in Amoeba. 1

ST 0 qUERT-EEA o 3T T ldl 27

2. Where does respiration occur in bacteria? 1

JFNTET § 99 el 9 Bidl 27

314/HIS/106A 12



3. Which microorganism is used for the preparation of curd? 1

TE T % e fore gemshiet 1 S R 87
4. Which method of cultivation should be used in mountain slopes to conserve
soil? 1

vddia &1 § ger wew & forw @t i frm ot s wem e =ntew?

5. When did earth originate? Which gases were present in the atmosphere of the
primitive earth? 2

geefl oAl I e ge¢ YAl o IRIWE TRVl H - € T ey off?

6. To which group do the following belong? 2

(a) A unicellular organism whose cell wall is made up of peptidoglycan and
has single double-helical molecule of DNA

(b)  Cells have true nuclei; body is made up of thread like structures; cell wall
made of chitin and chlorophyll is absent

(c) Woody plants; no flowers; ovules borne on megasporophylls

(d) Elongated, segmented coelomate; locomotion by setae, excretion by
nephridia

ffafaa Sfa g ot & il ema 87
(%) UkHIEERE, Ufeenarged i wifver-fufs o don twa e e g g, S
el affet o o To 39 F ST BT B

(@) wIfEERA ¥ gond w5k Bl 2; YRR 9RI% A O 91 2har 7 shiisree-fufa el
# Bl & q FANIThe Tal Bl

(M) FE f; g0 T 90; i RS W 8
(F) <, TS gF HidWe ; T o T I, Icas A ATk

7. What is the dominant generation in pteridophytes? Name the sex organs of
pteridophytes and give one example of a pteridophyte. 2

RESwEd § ywrl ofaEr wE-Hl 27 Tk SMA ST % A dsU| REIwEE Il Uk
3T T |

314/HIS/106A 13 [ P.T.O.



8. Name the techniques employed for the following :
() Making multiple copies of DNA

(b) Producing large quantities of identical genes

for qehdient g0 T sHTT S 27
(EF:) o Tdo Qoﬁaﬁmuﬁ%ﬁﬁaﬂm

(@) F|E SHT 1 oIS 70§ IcdTed

9. Match the items given in Column—I with those of Column—II :

Column-I Column—II

(a) |Vivipary (i) |Chrysanthemum

(b) |Short-day plant (ii) |Rhizophora

(c) |Parthenocarpy (iii)) |Auxin

(d) |Cell elongation (iv) |Gibberellin

HictH—I # U el o1 wiem—II # fou et 9 faem fifsw

HicTH—I hicTH—II
(a) | fogesr sigam (i) |shTgErema
(b) | STT-TSrHRTAl qem | (i) | CESATEBIRT
(c) | AT uFHe (iii) | Fifeem
(d) | FiRTE-TTwaE g | (i) | FeRfem

10. Give 1 word answer for the following :

(a) In which plant part the vascular bundles are radial?

(b) In which plant part the vascular bundles are collateral?

(c) Name an adventitious root which is fleshy.

(d) Which part of the plant develops from plumule?
frafafaa &1 1 s o 3w i

(F) WG & FE 9 § T G Fd U S 87

(@) WY & fohm am @ guifydess Hegd ded 91 Sd 27

(1) fordl ermenfie widet e 1 e difsl

() WY H DHE-G1 9O TG ST 27
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11. Draw the following and label any two parts in each of them : 4
(a) Ciliated epithelium

(b)  Mitotic prophase in an animal cell

frfefaa & o s9eR 390 @y § 91 9T Jmifehd i
() usmTYeh! Tuefiferm
)

S IR B Pl fawsE B gataen

12. (@) Which are the three physical barriers that prevent the entry of pathogens
in the body? How is nose able to expel particles and pathogens?

(b) Name two fields where knowledge of biotechnology can be applied. Give
example of each. 4

(%) eMferRes geastal (AMOpsTi) w1 IR § Yo e o a1 ITRING Ty -9 87
AT VRIS 3R ISt il STl ke FeRTerar 27

(@) W d &5 % AW AdEY SEl SEuEnfehl Sl SUEN fRar ST Gehdl g1 Ycd® o
3T STy |

13. Differentiate between the following : 4

() Budding and Fragmentation (give one example of each)

(b) Identical twins and Fraternal twins

fafafaa @ s Wy FHifu -
gohe Td @Ued (T 1 Ueh 36TeLU difi)
e el wa feares Jeai

)
)
14. (o) Name the specialized bodies where N, is fixed in legumes. Which bacteria
are found in these bodies? How is leghaemoglobin produced?

(b) Give reasons :
(i) Rate of transpiration increases with increase in light intensity

(ii) Pitcher plant can manufacture food but also feeds on insects 4

(F) Toedl den & 39 fafyw v & 9m saEe S Aeeee Rl g 27 =
fafre vl & ®F-9 A 9 Sd 87 T -SEeisd 1 3cqed R BT &7
(@) <R &Ry
(i) TR FH Aar T U araeEsH i 9¢ Sl @
(ii) FIUTEY YT IS T Tehd @ R e off 190 +d &

314/HIS/106A 15 [ P.T.O.



15. Define osmosis. How does it differ from diffusion (give any two points)? Also
give one example each of osmosis and diffusion.

TR R €T aE e @ Re e R (R @ fag 9asw)? weRer qen
foaor 1 uw-us 3w off |

. (q)

(b)

()

(@)

(b)

(b)

Define photosynthesis. Where do dark and light reactions of
photosynthesis take place in the chloroplast?

What do you understand by extracellular and intracellular digestions?
Give one example of each.

TRITETATI  hl GHATN  hISTT | TeRerEvaso <hl Temel TR qom ST
srfuferan efdeas & for wmm § 2t 27

STAURITRTRT AT HIRERETE U= @ 379 1 99d of s bR o 9= ohl
Teh 32T Y

Name the organs of respiration and elimination of nitrogenous wastes in
cockroach. Where are these organs situated?

Name the types of blood vessels which have the following characteristics :
(i) Flow from heart to body parts

(ii) Flow from body parts to heart

(iii) Semilunar valves are present

(iv) Blood pressure is high and pulsatile

faeerg & U S aTel W@ ST 9T ATgee Scdsi ST % AW Sart] I IRR [
Fa U I 87

d= & ™ A % YR W aaree foh A R yeR it wfer arfeed 2

(i) =T Q A A A F=d B

(i) 3T W T AR F&dl 2

(iii) ATEZRR FAE BT &

(iv) FR-TE 3= TR Teie Brdr &

Name the pathogen which causes tuberculosis. What are the main
symptoms of the disease? Give two methods to prevent this disease.

Give three main functions of each of the following :
(i) Fats

(i) Proteins

314/HIS/106A 16



(%) dufGH W & WSHH H AW FdBEC] 36 WD 6 THE A0 R &7 Tl UFHAW 6
o =g S U wamEu|

(@) f=ffad & 9 Jo® & @9 9@ w0 Fdse
(i) =g
(i) TEH

19. (@@ What are the various trophic levels of a food chain? Name two producers
of a pond ecosystem.

(b) What is soil? What are its components? What is soil erosion? State one
human activity which can cause soil erosion. 6

(%) @™ g@an § fafid 9w T@ SE-9 B 27 qee giiefae a3 o el =@

3cUIeehl o 9 &dISU |

(@) Tar ® 37 Tk i Tued dM-wH W g7 gal WET BT 87 TR B Uk
l-II"|°|\‘»‘||(~\'|(‘| 0T §d1gU |

20. (@@ What do you understand by the word ‘variation’? How do variations arise
in a population? How are they important for the population?

(b)  List three processes by which genes are transferred from one bacterium to
another bacterium. 6

(%) ‘fafgaaret’ @ om wn gugd 27 Tt o & fafawad %9 som @t 87 foredt
SEE & fou fafauarst s = qew 27

(@) uH st ¥ R SRIfE § S s R dE ufweret gr dr 27

21. (@) List one function of each of the following :

(i) Ovary
(ii) Oviduct
(iii) Seed

(iv) Placenta

(b) List any two preventive methods for population control and family
planning.

(c) How is body able to maintain a steady state of water content in summers
and winters? 6
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(%) Tffad & ¥ I&% 1 T HE Td5
(i) e
(ii) FUEATEHRAT
(iii)
(iv) 3T

(@) swoEn e 3R afEr frem &t w8 | faferr sase)

(M)  TER IR wE IR W % Hew 4 R So-uged e ST W@ 87

SECTION-B
wus—d

OPTION-I
ICETR S|

( Tools and Techniques in Biology )
( Sfrafas ° 9= U aeheieh )
22. What do you understand by magnification?
FMEET | M F1 GHEAd &7
23. What is sphygmomanometer used for?
e fore fo Som wed &7

24. Match the words given in Column—I with those of Column—II :

Column-I Column-II
(a) |Safranine (i) |Benedict’s solution
(b) [FAA (i) |Living material

(c) |IRinger’s solution | (iii) |Fixative

(d) |Test for sugar (iv) |Stain
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HhictH—I # fau st o1 hierwn—II # fou visai 9 Ty hifso

HicTH—I wictH—II
(@) | B (i) | SAfee 1 =i
(b) | Tho To To (ii) | Sifere dered
(c) | o’ =1 = (iii) | feordi
(d) | R 1 uderor (iv) | AN

25. Which material is used to study mitosis? How is this material grown in lab?

Which stain is used to prepare slides for mitosis?

Tt fawse & see & fou sF-d 9wl o wEm wd 27 39 9w %l SEEmEmen |

FH I &f T faueE I wEe s H § wE-Ar AlESs = TR S 27

. Write short notes on the following :

(a) Greenhouse

(b) Dry preservation

ffafiga w dfem fewfimt fafeo -
(%) WHERE
(@) gk aieam
OPTION-II
Tercg—11

( Economic Biology )

( arrieter Sfrarfesm )

. Name two oilseed crops of India.

qd § IS S areft &t faetedl wHet o 9 Sqrsu|

. What is the full form of NDDB?

THo o Eo dlo I forga &4 fefigu|
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24. Match the words given in Column—I with those of Column—II : 2

Column-I Column-II
(a) |Catla (i) |Marine
(b) |Shark (i) |Freshwater
(c) |Cocoon (iii) |Bullock
(d) |Draught (iv) |Silkworm

HicTH—I # U vsal o1 wiem—II # fou et 9 foem fifsw

HieTH—I wicTH—II
(@) | e (i) | |
(b) | 7Tk (i) | AT A
(c) | TR (iii) | S/
(d) | == (iv) | iz

25. (@@ What is artificial insemination? Give its two advantages.

(b) Explain the process of reeling silk. 4

() wbm ef-f=m w27 3@ fafy % #E S e waEy
(@) WM I i fafe augms|

26. (@) List two methods used to store and preserve fruits and vegetables.

(b) What are the main characteristics of worker bees? 4
(%) ol U Gfes @l o WSRO TR qfeor 6 w8 ot fafemr samsu)
(@) df gemfRga & vg@ @0 = 87

* k&
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